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Problem.

methods of s ing the problem.

r expenditure.
By 120: ur revenue.

Proposed Turnover Tax.

mparison with the
German and French experiments with a
Turnover Tax.

Argupen s for and against a Turnover
Tax.

present Dominion
the Income Tax.

Conclusioni=
Thet the proposed Turnover Tax &t 1% would
yield as much a he present Sales
That, in o to meet the exis

the Sales

ty may be desirable in

on the Ssles Tax

regsort to both,
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unalterable is very great - much greater proportionately than

is the case in the Unite 8, This portion is largely

the nature of interest on war d lbsidies the provinces,
pensions, etec, It is very i X naea 1try like Canads

for any government to curtail xpend. very seriously, I
do not sgy that it is impossible but the alternative method
increasing the revenue - seems more feasible, Nor should we forget
that there has been a very marked decrease in cert

yenditure - particularly capital and specisl,

i.

but such

(b) Increasing our revenue.
One proposition thet has met with considerable
from the business world is to substitute a Turnover Tax
for our Sales Tax, In 1924 the Sales Tax produced $100,990,000,

in 1925 $66,707,000, Advocates of the Turnover Tax have prophesied

that it will produce from $175,000,000 to $250,000,000, Presumably

they anticipate that the Turnover Tax will be imposed at the rate
of 1% whenewsr a commodity or possibly a service is sold - sub-
jeet of course to necessary qualifications for brokers, bahkers,
professional men and so on., The tax will be on the selling price
of the commodity or service and the receipts will be forw

the government monthly, The ex

vosed on the selling price of a




the manufacturer o roducer,

Moreover a great y commodi

and those entering into further manu-

important question to be considered
Turnover Tex be as productive as its ad-
vocates believe? ; should be, they have virtually won their

it is sdditional revenue that is needed and that at al-

cost, Most of the attempts that have been masde to esti-

yield seem to me to be based on very insufficient data.
too much guess work involved. We do not know the volume
in Cenada, we do not know how many times the raw material,
the semi-finished commodity and the completed product change
hands before resching the consumer, We can only guess and the
guesses that have been made have resulted in an estimate of the
productivity of the Turnover Tax as low as $40,000,000, as high
as $250,000,000,

It seems to me that something may be gained by a consider-
ation of the experiences of other countries with & Turnover Tax.
Nearly every country in Europe, with the exeeption of Great Britain,
has one. Germany has had one since 1918 based on a stemp tax in-
gtituted in 1916 on the transfer of goods., The existing rate is
2%. PFrance h n Taxe sur le chiffre d'affaires - the rate
being 1.4%. werman Tax produced about 1400 million marks

($350,000,000) The French Tex produced 3,015 million




age

frencs ($130,000,000). With a 1% rate the German tax would have

produced about $175,000,000 and the French tax about $93,000,000.

It is unlikely that 2 Canadian Turnover Tax would pro-
duce anything comparsble to the yield of the German and French
taxes. Both Germany and Prance have many times the population
and industrial wealth of Cansda, Germany in particular is far
more highly industrialised than Canada and its business turnover
is much greater.

The exponents of the Turnover Tax are of the opinion thsas
it can be more easily ascertained by
than the Sales Tax and that it will cost
of them has said "Anyone who has & cash register needs no
accounting for this purpose". These statements are probably
true when applied to any one individual or corporation, but they
are not true when applied to the much lsrger groups of individuals
or corporations who will be liable for the payment of the tax wher
turnover is the test and not the sale of the fi
They also say that it will produce & revenue
monthly and on the monthly turnover.
addition it eliminates the possibility of paying
debts but in such a case relief should be granted under the
Tax.

-

The opponents of the Turnover Tax contend that it would

4

have a tendency to produce concentration in business.

no doubt that this charge is true though doubtless & certain smount




of concentration is desirable.
would fare better than the corporation which bough

4.

ial and so0ld its finished produet to other

ther production although doubtless tendeney could be met to

some extent,
yorations would be
the expense would
be greater and supervision more difficult,but this has been alluded
to sl ready in another connection,
A third difficulty is more serious. Should the tax be

imposed on exports? The Germans have decided that it should

undesirable as they confess this policy to be and they have so

decided largely on the ground that the only way of exempting ex-
ports from the tax is to collect it and then grant a drawback,
But to whom and in what proportions should such a drawback go,
when it has been paid by several people and in different amounts?
Under our existing Sales Tax no such difficulty is met for there
is only one person to whom the drawback goes since there is only
one person who paid the tax and in asddition the amount of the draw-
back is as easily ascertained as the amount of the tax,

Our prineipal sources of revenue are Customs and Excise
duties and the Sales and Income Taxes. An income tax is favored

by most economists because it can be graded in accordance with the

tax payer's ability to pay. This is possible to & limited extent
with the so-called indirect t by the use of ad valorem rates

and heavier taxes on luxuries. A very important objeetion




$0 our existing income tax is the fact that the rat

higher than those of the American income tax.

the United States with en income of $7500. and no

me tax of $60,00, In Canada he pays $336.00.
he same difference thou
I need not go into the undesirable res

logical method is to compare the total taxes

with those paid by an American, In fsct

for coneluding that all taxes - federal,

are somewhat lower in Canads than in

American is as rule better able to

than the d i

nsidering all these circu - what shou
conclusion? On the one hand it must be granted that
tax no heavier than the American would be

income tax and not all taxes that impresses people most. More-

over, it is questionable whether s rate higher than 40% or 50%

on large incomes really yields as much in the long run as lower
rates. Furthermore very high rates tend to lessen saving
investing. On the other hand most economists would probably
oppose any such decrease ax rates as would materially

reduce the receipts. As only about one fifth of our tax
receipts comes from the income ; i 3> American income tex
produces three fifths of the tax receipts and the En

tax is responsible for nearly ] £t 3ceipts

put it in another way. Four fifths of federal tax receip

come from taxes which fall much harder on the poor and middle




classes then on the well-to-do. Our incor 2 th

-

federal tax that can be and is adjusted
payer, Under these circumstances I should hesitate to propose
any material reduction in income tax rates and this for no pers

al reason for I know of no one who is hit harder by our income
tax
Our present Sale ax is 1@ successor of a modified

form of Turnover Taex and in & general way seems to be & better
tax, It is levied upon fewer people and is thus subjeet to
better government supervision, Moreover the people who pay it, be-
ing manufacturers, have generally better means of estimating it
as compared with other classes in the distributive process. It

oes not discriminate favor of the integreted industry and the
producer who deals di: Wi y cugtomer although thig is a
diserimination whie 3 sireble side.

As e ) . f & 1% Turnover Tax in Canads

I doubt very much whether it would be as productive as the
existing Sales Tax especislly if the latter were imposed on all
sales. I base my conclusion on the Germen and French experiments
with Turnover Taxes, The total value of all Canadian products in
1924 has been estimated at $4,500,000,000, In this valuation
there is confessedly much duplicetion, how much we do not know

exactly. At a guess, and a very extravagant guess, the total net

not more them $4,000,000,000, German, American and

£ naaieh o m g el
Canadian suthorities tell us that a 1% Turnover Tax would produce




were imposed
yield of the
more.,
But as the German
speech on the Turnover Tex
tory and seem to lead us nowhere".
propose in order to increase our revenue? In the first place

e
1

hose commodities which are not now subject to

4

Pax - particularly foed product

s, Possibly an inclusion
gervices. AS ¢ resort an increase in the Sales Tax rate,

Succession Duty may
be desirable., I am aware that

provineial governments who now complain that the Dominion

ment has infringed upon their proper field of taxation.

ssity knows no lew and other countries have both st
succession duties smong them being the United States

the British Dominions.
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case and under these assumptions, t
yields a 1little more than the sales tax, on a single article, but
the price of the article
case 0f the turnover tax : 118 some effect on restriet-
ing the total volume of trade, s still doubtful whether
in the aggregate the turnover tax would yield more than the sales tax,
In the actual business world, B, C, and the other intermediaries

would add additional value to the article by some further process of

manufacture, On the same assumptions as before that each

adds 10% to the purchase price before re-selling, the fact that B

adds to the value of the material purchased from 4 by some further
process can be shown as another column of figures starting at B, The
value produced by A is embodied in the same article B sells, but B's
additional contribution can be conceived as separate for our purpose

of studying the tax incidence, and its yields, In the same way other
columns of figures could be constructed side by side to represent

the additionsl values contributed by all the other intermediaries,

the main result being that on all parts of the value added subsequently
%o A4, the turnover is less than seven and the advamtage of the sales
tax is menifest,

But, if we accept the statement - which I have no means of
checking - that the number of turnovers on Cansdian products is on
the average not more than seven, and if, to take the most favourable
case for the turnover tax, we suppose the average number of turnovers
to be seven, then our one colugn as given c¢an be taken as sufficient

in itself, for what is lost by the turnover in some values being less




compensated for by the turnove

so far ss the burden of the tax is not
selling price is ss and both taxes yield prop
do not know that
tax can be
forward,
that the ineide of the tax would work out in s similar
assume, as in the
figures given, t he ineci s shifted the ultimate consumer,
ag indeed the intent
With regard to
by each interm

average

« .=
sales tax over a turnover tax. If 10% is considered too high ¢

sent the actual average, to the extent it reduced, the more
able (or less unfavourable) the turnover tax appearse

The conclusions reached by me therefore are: the greater
number of turnovers, and the smaligtna amount added by each interme-
diary to cover his overhead charges, and the less the agtici
demand, the more favoursble will the turnover tax

vith a sales tax, but considering a 1% turnover tax asa

sales :nd assuming the average number of turnovers to be seve

though the turnover tax would yield a compsratively small excess on
the average individual article, yet considering that the increased

-

ultimete selling priece would diminish total sales and that the
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MARSHALL FiELD & CoMpPANY
CHICAGO

Jonx G. SHEDD December 2nd,
PRESIDENT T 92 1w

Sir Arthur Currie,President,
MeGill University,
Montreal, Canada.

Dear Sir Arthur:

You are no doubt aware that there is bei ng
actively promoted in this country a change in the tariff
policy, which has always existed, of assessing the ad valor-
em duty on the foreign cost, and substituting therefor an ad
valorem assessment of duty upon the wholesale selling price
in this country.

We are actively opposing this measure as we
believe that apart from its being an unworkable scheme, it
will operate to greatly enhance prices and largely curtsil if
not entirely wipe out imports, with a consequent reaction upon
the export business of the country.

In our study of the subject, we have taken note
of the action of the Canadian govermment, last June, in disal-
lowing, when computing the value for duty purposes, any depre-
ciation in foreign currency in excess of fifty per cent of stan-
dard or proclaimed values. It would seem that this would bar
out any goods from Germany and other central Buropean countries
and have much the same effect with respect to goods from France.
If you have access to the figures we would be much interested to
know whether the comparative imports from France, Germany and other
central European countries during the months succeeding the pas-
sage of this act, as compared with 1like months in 1920, bear out
our assumption. The comparative figures with the average of the
years 1912, 1913 and 1914 would also be interesting.




There also present themselves to us the further
questions as to the reasons leading up to the enactment of this
bill, and also whether it has had any detrimental effect upon the
export business of Canada with Germany and France.

We realize we are drawing considerably upon
your time, but in our deep interest in the question, we especially
desire the opinion of one whose view is as broad as your own. Any
information that you can give us will be much appreciated.

Yours very tmuly,

MARSHALL FIELD & COMPANY

BY f’/zéj;i;/&,_‘ ;
‘432:“-*““' President.
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